T1-Civics And Economics
Model Question Paper III
9th Standard

Social Science

I. Answer all the questions
Time : 01:30:00 Hrs

Part- A
1) The parliament of India consists of
(a) onehouse (b) twohouses (c) threehouses (d) None
2) LokSabhahas____
(a) 530 (b) 238 (c) 543 (d) 250

_ Elected members.

3) The upper house is known as
(a) RajyaSabha (b) Lok Sabha (c) Cabinet (d) Parliament
4) Money bills cannot be introduced without the approvalof ________
(a) Parliament (b) Prime Minister (c) President (d) Attorney general
5) The artical of the constitution provides for a vice President ________
(a) Article53 (b) Article356 (c) Article360 (d) Article 63
6) Supreme Courtjudgeis appointedby_____
(a) cabinet Minister (b) Member of the parliament (c) Prime minister (d) President
7) Supreme Court judges retire at the age of
(a) 62 (b) 65 (c) 58 (d) 60
8) Head quarters of Supreme Courtisin
(a) Chennai (b) Mumbai (c) Kolkatta (d) New Delhi
9) There exists an indirect relationship between
(a) Priceanddemand (b) Price and supply (c) Price andincome (d) Price and Tax.
10) Law of demand is only applicable to
(a) Necessities (b) Comforts (c) Luxuries (d) Very low priced goods
Part- B
11) What are the qualifications to become a member of the Rajya Sabha?
12) When is the emergency power declared?

)
)
13) Write the functions of the high court judge?
) Alfred Marshal's Law of demand

)

List out the determinates of supply.
Part- C
Explain the council of ministers?

What are the functions of the vice president?

)
)
18) Explain the power and functions of the Supreme Court?
) Explain the role of the High Court Judge?

)

With the help of a table explain the law of demand
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Total Marks : 50
10x1=10

5x3=15

5x5=25



